| Efficiency vs Dxy |
> 0.2

< r : : : : : : :
S C : : : : : :
W0-18__ """ o P [ P
< : : : : : :
R e R S e
o O : : : : :
8014 oo R R S

042

eff

e
008

008
e Lo e e
s e e e

E
H [®)
TTTTT T 1T

Ratio
(=Y
H

510 15 20
TP dxy (cm)

—— B M I|t_s't'ep2_tt‘gar-prr:ase%-newgeom
ici —_— angle_step2_ttbar-phasel-newgeom
| EfflClency vs Dz | —+— DOQM”fast_ste tfbar-pr?asel-newggom

—a— UélVl_Ofli(%iﬂal SIEPZ_TDar-pmndasel-newgeom
m

05 —— DQM”pixelCPEGeneric_step2_ttbar-phasel-newgeom

N C

© r : : : : :
€0.45F - AR & e e R AR
> F : : : : :
T e e
o C

B .35+ fr g
() : : : :

e
T N ——
02 b

T SN N SN N SR -
SRR | RS N S -

T e

J..Q"";""!""!"tlillll;nuul

r HEES
o . 1 4 0" B .
LT SRS SR TR0 0 RS N

Ratio

race 2
-

>
o
&

= -+
P

OEOLOCTR R

3020 -10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


